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3197.24#=FCy
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_~ EGH
COS 18 * EF=EG
COS 18 * 260.1#=EG
247 44#=EC

_— EN

CoS 18 * E=E&J

COS 18 * 3726.B#=EJ
—3544 4#=FJ

_~ DKF
COS 21 * FB=DK

COS 21 * 4583.1#=DK
427B.7#=DK

_~ CAL
cos 33 * CA=CL

COS 33 * 3812.24#=CL
3197.24#=CL

_~ MBN
COS 18 * BR=BM

COS 18 * 3249.1#=BN
—3090.1#=8BM

_~ 08P
Cos 18 * BP=EO

COS 18 * 2462.6#=B0
2342.1#=80

_~ EGH
SIN 18 * EH=GH

SIN 18 * 260.1#=CGH
—80.4#=GH

_— EN
SIN 18 * EI=lJ

SIN 18 * 3726.8f=]
—1151.6#=10

_~ DKF

SIN 21 * FB=KF
SIN 21 * 4583 1#=KF
1642.4f=KF

_~ CAL
SIN 33 * CA=AL

SIN 33 * 3812.2#=AL
—2076.3#=AL

_~ MBN

SIN 18 * BR=NN

SIN 18 * 3249.1#=NN
—1004.0#=MN

_~ 08P

SIN 18 * BP=0P
SIN 18 * 2462.6#=0P
—761.0#=0P

—3851.1#=FBy

=FBy
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18 [J+EG=FEy EG+EJ=FEx
—1151.6#+247.4#=FEy —80.4#—3544.4#=FEy
—904.2#=FE, —3624.8#=FEy

ll
BO+MN=FBy
2342.1#+(—1004.0#)=FBy
1338.1#=FBy

i
KF=FDy
1642.44#=FDy
.

AL=FCy
—2076.3#=FCy

ll
BM+0P=FBy

—3090.1#+(—761.0#)=FBy

—3851.1#=FBy

i
KD=FDy
4278.7#=FDy

CL=FCy
3197.24#=FCy




